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In Bxs. 27,29, 31  cale. pdcHal deriv. using implind dif.
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Le’r P=(a.b) be a Cm’: et of 'G(Y\S\ =xT iyt -Hwy

(o) Firsk use £x(,9)=0 Fo show Hot o= 2b. Then Us S—\,(xsup =0
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Criv P‘\'S ofe Fhe Sols. ofF &'7(:0 )3 ":\320 7

'?%(.*\\332 27(‘\"% =0 =y \ﬁ:'?»?('\
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SUb— in \j:~2>( (lﬁ— wordg of ceit, p“’S) (0 0) ('3/51'\ 'B/D-) ( ll?‘)
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() =2 Y=0 or y=2%-| I Sub =0 o (2)
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Stepl. Find crit. ps. (ser 15%,ger deriis. =0)

/_\) Step 2. Compude discriminant (20d ocder packals)

ST 3. 26 Derive Tesy

_" H.G6, M7 W Cony. ol
o Aod Derin. Tet =7 45+ campute discriminanks o crik pts: |
‘gi‘ D(0,0) = ~|< g ‘ D (s VY = de U3 () - B+ 1) 1 20
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i 72069 = x24y2—xy rx :

ﬁ"‘ L. fx(6v)=2x-y+)=0 (1) "

3 0N Zy-xzo ) =5 w19
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;u:' 52. Txx (X5y) = -1§x Hg(%»\j\ -4x 4‘-13--‘13 7
f;{: D (x,y) = 'S‘XX'C\N —Y-xg = ~13x- (’HX) (-LI W = TS -\loxj
1) % $3. b(0,f2) =-32<0 Fo (P, 0)-—|s 23 = -12<0
Lgi D(0,-42)= -32< 9 oy, )= T2 = 250
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(o, rﬁ) are saddle pts. | §(%,0) local max. , § (-*3.0) lecal min-

150 $(x,9) = XM + Yl - 1%\ S

. Exlx,u) = e "1\\ 1\ () => \5:"37__ ] -
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Ceit. p¥s: (0,0) ., () , (-1,-1)

52 Fox (o) = 12xr | Fyy (%au) 21292 Sxy (9) = -4
D 09) = Ffyy = £24 = 12x2 129> - (4)2 = A ey? — o
55. D(0,0)=-~1§<0 | S ()< 12>0
D (51 s M -16=128 >0 | dyg (-1,-M)= 1230
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Sl Fx (%59 = cos(x+y) +Sinx =0 (1) =2 (05(x+\3) Q
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